

GLOBAL ANALYSIS OF A NON-AUTONOMOUS DIFFERENCE EQUATION WITH BOUNDED COEFFICIENT

ÖZKAN ÖCALAN, MEHMET GÜMÜŞ

ABSTRACT. In this paper, we investigate the boundedness character and the global behavior of positive solutions of the following non-autonomous difference equation.

$$x_{n+1} = A_n + \frac{x_{n-k}}{x_n}, \quad n = 0, 1, \dots,$$

where $k \in \mathbb{N}$ and $\{A_n\}$ is a bounded sequence of non-negative real numbers and the initial conditions x_{-k}, \dots, x_0 are arbitrary positive real numbers.

1. INTRODUCTION

Difference equations, also referred to recursive sequence, is a hot topic. There has been an increasing interest in the study of qualitative analysis of difference equations and systems of difference equations. For example, see [1 – 25] and the references cited therein. Difference equations appear naturally as discrete analogues and as numerical solutions of differential and delay differential equations having applications in biology, ecology, economics, physics, computer sciences and so on.

This paper studies the boundedness character and the global asymptotic behavior of positive solutions of the non-autonomous difference equation

$$x_{n+1} = A_n + \frac{x_{n-k}}{x_n}, \quad n = 0, 1, \dots, \quad (1.1)$$

where $k \in \mathbb{N}$, the initial conditions x_{-k}, \dots, x_0 are arbitrary positive numbers and $\{A_n\}$ is a positive bounded sequence of non-negative real numbers with

$$\liminf_{n \rightarrow \infty} A_n = p \geq 0 \text{ and } \limsup_{n \rightarrow \infty} A_n = q < \infty. \quad (1.2)$$

Eq.(1.1) was studied by many authors with $k = 1$.

In [15], [16] and [23] the authors independently studied the asymptotic behavior of positive solutions of the following difference equation

$$x_{n+1} = p_n + \frac{x_{n-1}}{x_n}, \quad n = 0, 1, \dots, \quad (1.3)$$

2010 *Mathematics Subject Classification.* 39A10.

Key words and phrases. Boundedness character, Global behavior, Non-autonomous difference equation, Attractivity.

Submitted Sep. 10, 2015.

where $\{p_n\}$ is a two-periodic sequence. For the boundedness results, Kulenović et al. [16] and Stević [23] used nearly similar proofs. However, in order to obtain global attracting results of Eq.(1.3) these authors used different techniques in proving their results. For the proof by Kulenović et al. see [Theorem1, 16]. Stević, on the other hand, used the monotonicity of the $\{x_{2n}\}$ and $\{x_{2n+1}\}$ in his proof.

In [21] Pappaschinopoulos et al. obtained analogous results for the difference equation (1.3), where $\{p_n\}$ is a three-periodic sequence and the initial conditions are positive.

In [24] Stević studied Eq.(1.3), where $\{p_n\}$ is a sequence of non-negative real numbers which converges to $p \geq 0$; and in [4] Devault et al. studied Eq.(1.1), where $\{p_n\}$ is a positive bounded sequence.

In [22] Pappaschinopoulos et al. investigated the boundedness, the periodicity, the attractivity and the global asymptotic stability of positive solutions of Eq.(1.1) where k is an odd number, A_n is $(k+1)$ -periodic sequence and the initial conditions are positive.

Recently, in [17], the author has studied Eq.(1.1) for the case $\{p_n\}$ is a two-periodic sequence.

Our goal in this paper is to extend some results obtained in [4] and improve the conditions of the results concerning the boundedness and the global behavior of positive solutions.

For the autonomous cases of Eq.(1.1) and Eq.(1.3), we can refer the reader to [2, 3] and [1] respectively.

2. BOUNDEDNESS CHARACTER OF EQ. (1.1)

In this section, we investigate the boundedness character of Eq. (1.1), assuming that Eq.(1.2) is satisfied.

The autonomous case of Eq.(1.1),

$$x_{n+1} = A + \frac{x_{n-k}}{x_n}, \quad n = 0, 1, \dots$$

where $A > 0$, has been thoroughly studied in [3].

The following lemma is given in [10] which will be useful in analysis of the boundedness character of solutions of Eq.(1.1).

Lemma 1. *Assume that all the roots of the polynomial*

$$P(t) = t^N - s_1 t^{N-1}, \dots, s_N$$

where $s_1, s_2, \dots, s_N \geq 0$ for $n = 0, 1, \dots$, have absolute value less than 1. If $\{x_n\}$ is a non-negative solution of the inequality

$$x_{n+N} \leq s_1 x_{n+N-1} + \dots + s_N x_n + y_n$$

where $y_n \geq 0$ for $n = 0, 1, \dots$, then the following statements are true:

- (i) If $\sum_{n=0}^{\infty} y_n$ converges, then $\sum_{n=0}^{\infty} x_n$ converges.
- (ii) If $\{y_n\}$ is bounded, then $\{x_n\}$ is bounded.
- (iii) If $\lim_{n \rightarrow \infty} y_n = 0$, then $\lim_{n \rightarrow \infty} x_n = 0$.

We now present the following results about the boundedness character of Eq.(1.1).

Lemma 2. *Consider Eq.(1.1) and suppose that $k \in \mathbb{N}$. Assume that (1.2) is satisfied and $\{x_n\}$ be a solution of Eq.(1.1). Then the following statements are true:*

- (i) If $p > 0$, then $\{x_n\}$ persists.
(ii) If $p > 1$, then $\{x_n\}$ is bounded.

Proof. (i) Since $x_{n+1} = A_n + \frac{x_{n-k}}{x_n} > A_n$, we have $\liminf_{n \rightarrow \infty} x_n \geq \liminf_{n \rightarrow \infty} A_n = p > 0$ which completes the proof of part (i).

- (ii) Let $\varepsilon > 0$, such that $p - \varepsilon > 1$, then for sufficiently large n

$$x_n \geq A_{n-1} \geq p - \varepsilon \quad \text{and} \quad x_{n+1} \leq A_n + \frac{x_{n-k}}{p - \varepsilon}.$$

Since $\{A_n\}$ is bounded and from Lemma 1, it follows that $\{x_n\}$ is also bounded. \square

The following result is essentially proved in [10] for $k = 1$. It is clear that the result is satisfied when k is odd and its proof will be omitted.

Lemma 3. Consider Eq.(1.1) and suppose that k is odd. Then the following statements are true.

- (i) Suppose that there exists $0 < b < 1$ such that $0 < A_{2n+1} \leq b$. Choose

$$x_{-k}, x_{-k+2}, \dots, x_{-1} > \frac{1}{(1-b)}$$

and

$$0 < x_{-k+1}, x_{-k+3}, \dots, x_0 < 1.$$

Then

$$x_{2n-1} > \frac{1}{(1-b)} \quad \text{and} \quad 0 < x_{2n} < 1 \quad \text{for all } n \geq 0.$$

- (ii) Suppose that there exists $0 < b < 1$ such that $0 < A_{2n} \leq b$. Choose

$$x_{-k+1}, x_{-k+3}, \dots, x_0 > \frac{1}{(1-b)}$$

and

$$0 < x_{-k}, x_{-k+2}, \dots, x_{-1} < 1.$$

Then

$$x_{2n} > \frac{1}{(1-b)} \quad \text{and} \quad 0 < x_{2n-1} < 1 \quad \text{for all } n \geq 0.$$

The following result, when k is odd, demonstrates the existence of unbounded solutions of Eq.(1.1).

Lemma 4. Consider Eq.(1.1) when k is odd. Suppose that either

$$0 < A_{2n+1} < 1 \quad \text{and} \quad \lim_{n \rightarrow \infty} A_{2n+1} = 0 \quad \text{or} \quad 0 < A_{2n} < 1 \quad \text{and} \quad \lim_{n \rightarrow \infty} A_{2n} = 0.$$

Then, there exists positive solutions of Eq. (1.1) that are unbounded.

Theorem 1. Consider Eq.(1.1) and suppose that k is odd. Suppose that $0 < A_{2n} < 1$ and there exists $0 < b < 1$ such that either

$$A_{2n+1} \leq b \quad \text{or} \quad A_{2n} \leq b.$$

Then, there exists positive solutions of Eq. (1.1) that are unbounded.

3. GLOBAL ATTRACTIVITY OF EQ.(1.1)

In this section, we study the global attractivity of positive solutions of Eq.(1.1). Let $\{\bar{x}_n\}$ be an arbitrary positive solution of Eq.(1.1). We will find sufficient conditions such that $\{\bar{x}_n\}$ attracts all positive solutions of Eq.(1.1).

We define the sequence $\{y_n\}$ to be

$$y_n = \frac{x_n}{\bar{x}_n}, \quad n = -k, \dots, 0, 1, \dots \quad (3.1)$$

Then, Eq.(1.1) reduces

$$\bar{x}_{n+1}y_{n+1} = A_n + \frac{\bar{x}_{n-k}y_{n-k}}{\bar{x}_n y_n}$$

or

$$y_{n+1} = \frac{A_n + \frac{\bar{x}_{n-k}y_{n-k}}{\bar{x}_n y_n}}{A_n + \frac{\bar{x}_{n-k}}{\bar{x}_n}}. \quad (3.2)$$

To prove the global attractivity result of Eq.(1.1), we need the following lemmas.

Lemma 5. *We assume that $\liminf_{n \rightarrow \infty} A_n = p > 1$. Let $\{x_n\}$ be a solution of Eq.(1.1), if*

$$\lambda = \liminf_{n \rightarrow \infty} x_n \quad \text{and} \quad \mu = \limsup_{n \rightarrow \infty} x_n, \quad (3.3)$$

then

$$\frac{\mu}{\lambda} \leq \frac{(q-1)}{(p-1)}. \quad (3.4)$$

Proof. Using (1.2), (3.3) and Eq.(1.1) we obtain

$$\lambda \geq p + \frac{\lambda}{\mu} \quad \text{and} \quad \mu \leq q + \frac{\mu}{\lambda}$$

and

$$\lambda\mu \geq p\mu + \lambda \quad \text{and} \quad \mu\lambda \leq q\lambda + \mu.$$

So, we have

$$p\mu + \lambda \leq q\lambda + \mu,$$

thus,

$$\mu(p-1) \leq \lambda(q-1)$$

and so relation (3.4) is true. \square

Lemma 6. *Let $\{\bar{x}_n\}$ be a positive solution of Eq.(1.1). The following statements are true.*

(i) *Eq.(3.2) has a positive equilibrium solution $\bar{y} = 1$.*

(ii) *If $y_{n-k} < y_n$ for some n , then $y_{n+1} < 1$. Similarly, if $y_{n-k} \geq y_n$ for some n , then $y_{n+1} \geq 1$.*

(iii) *Let $\{y_n\}$ be a solution to Eq.(3.2). Then, either $\{y_n\}$ consists of a single semicycle or $\{y_n\}$ oscillates about the equilibrium $\bar{y} = 1$ with semicycles having at most k terms.*

Proof. (i) It is clear from the equilibrium definition.

(ii) Let be $y_{n-k} < y_n$. Then, $(y_{n-k})/y_n < 1$ and

$$y_{n+1} = \frac{A_n + \frac{\bar{x}_{n-k}y_{n-k}}{\bar{x}_n y_n}}{A_n + \frac{\bar{x}_{n-k}}{\bar{x}_n}} < \frac{A_n + \frac{\bar{x}_{n-k}}{\bar{x}_n}}{A_n + \frac{\bar{x}_{n-k}}{\bar{x}_n}} = 1.$$

The other case is similar and will be omitted.

(iii) Let $\{y_n\}$ be an eventually oscillatory solution of Eq.(3.2) such that the positive semicycle beginning with the term y_{n+1} has k terms. Then, $y_n < 1 \leq y_{n+k}$ and so, from part (ii) it follows that $y_{n+k+1} < 1$. Therefore, the positive semicycle has exactly at most k terms. The proof for the negative semicycle is similar and will be omitted. \square

Theorem 2. *Every non-oscillatory solution of Eq.(3.2) converges to 1.*

Proof. Let $\{y_n\}$ be a non-oscillatory solution of Eq.(3.2). Without loss of generality, we may assume that $y_n < 1$ for $n \geq N_0$. Thus, we have $y_{n+1} > y_{n+1-k}$ for $n \geq N$. Otherwise, there exists $l > N$ such that $y_l \leq y_{l-k}$, and by Lemma 6 (ii), it follows that $y_{l+1} \geq 1$, which is impossible. Hence, $\lim_{m \rightarrow \infty} y_{mk+i}$ exists for each $i \in \{0, 1, \dots, k-1\}$. Let

$$\lim_{m \rightarrow \infty} y_{mk+i} = \alpha_i \text{ for } i = 0, 1, \dots, k-1.$$

Clearly, $0 < \alpha_i \leq 1$ for $i = 0, 1, \dots, k-1$. We must show that $\alpha_i = 1$ for $i = 0, 1, \dots, k-1$. Without lossing of generality, since for $i = 0$

$$\lim_{m \rightarrow \infty} \frac{y_{mk-1}}{y_{(m+1)k-1}} = 1$$

for $\varepsilon > 0$ and m sufficiently large, we have

$$\left| \frac{y_{mk-1}}{y_{(m+1)k-1}} - 1 \right| < \varepsilon.$$

Thus,

$$\begin{aligned} |y_{(m+1)k} - 1| &= \left| \frac{A_{(m+1)k-1} + \frac{\bar{x}_{mk-1}y_{mk-1}}{\bar{x}_{(m+1)k-1}y_{(m+1)k-1}}}{A_{(m+1)k-1} + \frac{\bar{x}_{mk-1}}{\bar{x}_{(m+1)k-1}}} - 1 \right| \\ &= \left| \frac{\frac{\bar{x}_{mk-1}}{\bar{x}_{(m+1)k-1}}}{A_{(m+1)k-1} + \frac{\bar{x}_{mk-1}}{\bar{x}_{(m+1)k-1}}} \right| \left| \frac{y_{mk-1}}{y_{(m+1)k-1}} - 1 \right| \\ &< \left| \frac{y_{mk-1}}{y_{(m+1)k-1}} - 1 \right| \\ &< \varepsilon. \end{aligned}$$

It is clear that $\lim_{m \rightarrow \infty} y_{mk} = 1$. This completes the proof. \square

Theorem 3. *Consider Eq.(1.1) when $k \in \mathbb{N}$. Suppose that*

$$p > 1 \text{ and } q < p(p-1) + 1 \quad (3.5)$$

and let $\{\bar{x}_n\}$ be a particular positive solution of Eq.(1.1). Then for all positive solutions $\{x_n\}$ of Eq.(1.1),

$$x_n \sim \bar{x}_n. \quad (3.6)$$

Proof. Since (3.6) is equivalent to

$$\lim_{n \rightarrow \infty} y_n = 1 \quad (3.7)$$

where $\{y_n\}$ satisfies Eq.(3.2), it suffices to show that (3.7) holds. In Theorem 2, it was shown that (3.7) holds for all non-oscillatory solutions $\{y_n\}$ of Eq.(3.2). So, we will assume that $\{y_n\}$ oscillates about the equilibrium 1. Consider the function

$$F(a, b, c) = \frac{a + bc}{a + b}, \quad (3.8)$$

for $a, b, c > 0$. Therefore, we have

(i) For $c > 1$, $F(a, b, c)$ is decreasing in a and increasing in b .

(ii) For $c < 1$, $F(a, b, c)$ is increasing in a and decreasing in b .

Since all semicycles, except for perhaps the first, having at most k terms, we may assume, without lossing generality, that there exists an integer m such that

$$y_{2n} < 1 \text{ and } y_{2n-1}, y_{2n-2}, \dots, y_{2n-k} \geq 1 \text{ for } n \geq m. \quad (3.9)$$

Let

$$s = \liminf_{n \rightarrow \infty} y_n \text{ and } S = \limsup_{n \rightarrow \infty} y_n. \quad (3.10)$$

From Eq.(3.2) and (3.8) we have

$$\begin{aligned} y_{2n+1} &= F\left(A_{2n}, \frac{\bar{x}_{2n-k}}{x_{2n}}, \frac{y_{2n-k}}{y_{2n}}\right), \\ y_{2n+2} &= F\left(A_{2n+1}, \frac{\bar{x}_{2n-k+1}}{\bar{x}_{2n+1}}, \frac{y_{2n-k+1}}{y_{2n+1}}\right). \end{aligned} \quad (3.11)$$

Since (3.9) holds, by Lemma 5, we obtain $y_{2n-k+1} < 1$ and $y_{2n+1} > 1$, and so we have

$$\frac{y_{2n-k}}{y_{2n}} \geq 1, \quad \frac{y_{2n-k+1}}{y_{2n+1}} < 1.$$

Using (3.7), (3.9), (3.10), (3.11) and monotonicity properties of F , we have

$$\begin{aligned} S &\leq F\left(p, \frac{\mu}{\lambda}, \frac{S}{s}\right) = \frac{p + \frac{\mu}{\lambda} \frac{S}{s}}{p + \frac{\mu}{\lambda}}, \\ s &\geq F\left(p, \frac{\mu}{\lambda}, \frac{s}{S}\right) = \frac{p + \frac{\mu}{\lambda} \frac{s}{S}}{p + \frac{\mu}{\lambda}}. \end{aligned}$$

or

$$Ss \leq \frac{ps + \frac{\mu}{\lambda} S}{p + \frac{\mu}{\lambda}} \text{ and } Ss \geq \frac{pS + \frac{\mu}{\lambda} s}{p + \frac{\mu}{\lambda}}.$$

Then we get

$$\frac{pS + \frac{\mu}{\lambda} s}{p + \frac{\mu}{\lambda}} \leq Ss \leq \frac{ps + \frac{\mu}{\lambda} S}{p + \frac{\mu}{\lambda}}.$$

Hence, we obtain

$$pS + \frac{\mu}{\lambda} s \leq ps + \frac{\mu}{\lambda} S$$

and so

$$p(S - s) \leq \frac{\mu}{\lambda}(S - s).$$

Thus from (3.4), we have

$$p(S - s) \leq \frac{\mu}{\lambda}(S - s) \leq \frac{(q-1)}{(p-1)}(S - s).$$

and

$$[p(p-1) - (q-1)](S - s) \leq 0.$$

Therefore, from (3.5) we obtain

$$S = s.$$

Hence $\lim_{n \rightarrow \infty} y_n = 1$, and the proof is complete. \square

REFERENCES

- [1] A. M. Amleh, E.A. Grove, G. Ladas and D.A. Georgiou, On the recursive sequence $x_{n+1} = \alpha + (x_{n-1}/x_n)$, *J. Math. Anal. Appl.*, 233, 790–798, 1999.
- [2] K. S. Berenhaut, J. D. Foley and S. Stević, Boundedness character of positive solutions of a higher order difference equation, *Int. J. Comput. Math.* 87, no. 7, 1431–1435, 2010.
- [3] R. Devault, C. Kent and W. Kosmala, On the recursive sequence $x_{n+1} = p + (x_{n-k}/x_n)$, *J. Difference Equ. Appl.*, 9(8), 721–730, 2003.
- [4] R. Devault, V.L. Kocić and D. Stutson, Global behavior of solutions of the nonlinear difference equation $x_{n+1} = p_n + \frac{x_{n-1}}{x_n}$, *J. Difference Equ. Appl.* 11 (8), 707–719, 2005.
- [5] El-Dessoky, M. M., Qualitative behavior of rational difference equation of big order, *Discrete Dynamics in Nature and Society*, Volume 2013, Article ID 495838, 6 pages.
- [6] H. M. El-Owaidy, A. M. Ahmed and A. M. Youssef, The dynamics of the recursive sequence $x_{n+1} = (\alpha x_{n-1})/(\beta + \gamma x_{n-2}^p)$, *Applied Mathematics Letters*, 18.9, 1013–1018, 2005.
- [7] E. M. Elsayed, Solutions of rational difference systems of order two, *Mathematical and Computer Modelling*, 55.3, 378–384, 2012.
- [8] E. M. Elsayed, New method to obtain periodic solutions of period two and three of a rational difference equation, *Nonlinear Dynamics*, 79.1, 241–250, 2014.
- [9] M. E. Erdogan, C. Cinar and I. Yalcinkaya, On the dynamics of the recursive sequence $x_{n+1} = (\alpha x_{n-1})/(\beta + \gamma \sum_{k=1}^t x_{n-2k} \prod_{k=1}^t x_{n-2k})$, *Mathematical and Computer Modelling*, 54.5, 1481–1485, 2011.
- [10] E. A. Grove and G. Ladas, *Periodicities in nonlinear difference equations*, Chapman and Hall/Crc, 2005.
- [11] M. Gumus, The Periodicity of positive solutions of the nonlinear difference equation $x_{n+1} = \alpha + (x_{n-k}^p/x_n^q)$, *Discrete Dynamics in Nature and Society*, vol.2013, Article ID 742912, 3 pages.
- [12] L. Hong, T. Sun and H. Xi, On the dynamics of the difference equation $x_{n+1} = \frac{1}{B_n x_n + x_{n-1}}$, *Applied Mathematics and Computation*, 216.1, 337–340, 2010.
- [13] V. Kocić and G. Ladas, *Global behavior of nonlinear difference equations of higher order with applications*, Kluwer Academic Publishers, Dordrecht, 1993.
- [14] M. Kuczma, B. Choczewski and R. Ger, *Iterative Functional Equations*, *Encyclopedia of Mathematics and its Applications* (Cambridge: Cambridge University Press), 1990.
- [15] M. R. S. Kulenović, G. Ladas and C. B. Overdeep, On the dynamics of $x_{n+1} = p_n + (x_{n-1}/x_n)$, *J. Difference Equ. Appl.*, 9(11), 1053–1056, 2003.
- [16] M. R. S. Kulenović, G. Ladas and C. B. Overdeep, On the dynamics of $x_{n+1} = p_n + (x_{n-1}/x_n)$ with a period-two coefficient, *J. Difference Equ. Appl.*, 10 (10), 905–914, 2004.
- [17] O. Ocalan, Dynamics of the difference equation $x_{n+1} = p_n + \frac{x_{n-k}}{x_n}$ with a Period-two Coefficient, *Appl. Math. Comput.*, 228, 31–37, 2014.
- [18] O. Ocalan, Asymptotic behavior of a higher-order recursive sequence, *International Journal of Difference Equations*, 7.2, 175–180, 2012.
- [19] V. G. Papanicolaou, On the asymptotic stability of a class of linear difference equations, *Mathematics Magazine*, 69, 34–43, 1996.
- [20] G. Papaschinopoulos and C. J. Schinas, On a nonautonomous difference equation with bounded coefficient, *J. Math. Anal. Appl.*, 326, 155–164, 2007.
- [21] G. Papaschinopoulos, C. J. Schinas and G. Stefanidou, On a difference equation with 3-periodic coefficient, *J. Difference Equ. Appl.*, 11(15), 1281–1287, 2005.
- [22] G. Papaschinopoulos and C. J. Schinas, On a $(k+1)$ -order difference equation with a coefficient of period $k+1$, *J. Difference Equ. Appl.*, 11(3), 215–225, 2005.
- [23] S. Stević, On the recursive sequence $x_{n+1} = \alpha_n + (x_{n-1}/x_n)$ II, *Dyn. Contin. Discrete Impuls. Syst. Ser. A Math. Anal.*, 10, 911–916, 2003.
- [24] S. Stević, On the recursive sequence $x_{n+1} = \alpha_n + (x_{n-1}/x_n)$, *Int. J. Math. Sci.*, 2 (2), 237–243, 2003.

- [25] T. Sun, H. Xi and Q. He, On boundedness of the difference equation $x_{n+1} = p_n + \frac{x_n - 3s + 1}{x_n - s + 1}$ with period-k coefficients, Applied Mathematics and Computation, 217.12, 5994–5997, 2011.

ÖZKAN ÖCALAN

AKDENİZ UNIVERSITY, FACULTY OF SCIENCE, DEPARTMENT OF MATHEMATICS, 07058, ANTALYA, TURKEY

E-mail address: ozkanocal24@gmail.com

MEHMET GÜMÜŞ

BÜLENT ECEVİT UNIVERSITY, FACULTY OF SCIENCE AND ARTS, DEPARTMENT OF MATHEMATICS, ZONGULDAK, TURKEY

E-mail address: m.gumus@beun.edu.tr